
Question #84939, Physics – Mechanics | Relativity 

A body of mass 50g is suspended from one end of a spring whose force constant 0.8N\M the body is set into 

S.H.M with amplitude of 0.4m calculate 

1 The period of oscillation 

2 The frequency of the motion 

3 Angular speed 

4 maximum velocity 

5 maximum acceleration  

Solution 

1 The period of oscillation 

𝑇 = 2𝜋√
𝑚

𝑘
= 2𝜋√

0.05

0.8
= 1.6 𝑠. 

2 The frequency of the motion 

𝑓 =
1

𝑇
=

1

2𝜋√0.05
0.8

= 0.64 𝐻𝑧. 

3 Angular speed 

𝜔 = 2𝜋𝑓 =
1

√0.05
0.8

= 4
𝑟𝑎𝑑

𝑠
 

4 maximum velocity 

𝑉 = 𝜔𝐴 = (4)(0.4) = 1.6
𝑚

𝑠
 

5 maximum acceleration  

𝑎 = 𝜔2𝐴 = (4)2(0.4) = 6.4
𝑚

𝑠2
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